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PART -A: 20 marks 41T -3:20 3/ 

No supplementary answer-book will be given to any candidate. Hence the candidates should write the 
answers precisely in the main answer-book only. 

Maximum Marks: 120 

Answers of short answer type questions must be given in sequential order. Similarly all the parts of one 
question of descriptive part should be answered at one place in the answer-book. 

Write your roll number on question paper before answering of the questions. 

PART-B:20 marks HT- :20 3j 

Question paper consists of three parts A, B and C. 

RollNo.4 

ABS-52T-102 

PartA is the paper will be compulsory having 10 very short answer-type question of two marks each. The first 
question is based on knowledge, understanding and applications of the topics/text covered in the syllabus. 
(Words limit 20) 

Part Bof the paper shall consist of 4 short answer question selecting one question from each unit of 10 marks. 
Attempt any two. 

1 

(rE 0HI 20) 

(Words limit 150) 

(Ia H 150) 
P.T.0. 



PART-C:80 Marks HIT-:80 36 

Part C of the paper 
shall consist of 4 units cach unit carrying 1 descriptive question with internal choice. 

Students shall attempt 1 question from each unit, Each question carries 20 marks. 

1. 

(1) Write two reasons of distrust towards data. 

(2) State two objects oftabulation. 

(3) Give the definition of mode. 

(4) What is Range? 

(5) What do you mnean by Standard Deviation? 

(6) How is skewness tested? 

(7) What is skewness? 

(8) Givethe definition ofmoments. 

PART - A/ HT- 31 

(9) When should the rank differences method be used? 

(10) What is a Time Series? 

ABS-52T-102 

PART -B/T � 

2. Write a note on the misuse and distrust of statistics. 

2 

(Words limit 300) 

(r T 300) 

2x10=20 

5+5 



3. 
Differentiate between dispersion and: skewness. 

4. Construct) Fixed Base Index from Chain Base Index.:-

Year: 

Chain Base Index 

r=+0.5,Zxy =120, Ex´=90, o,-8 

Income in 
(Less than) 

1995 

No. of 
Workers 

92 

80 

100 

ABS-52T-102 

1996 

102 

70 

Calculate Mean, Median and Mode from the data given below: -

90 

5. On the basis of the information given below, find the number of items (N), where x and y are the deviations from their respective means : 

6. What is meant by statistical averages? Describe its chiefproperties and limitations. 

PART - C/ HT-H 

UNIT -V $O1 - I 

OR/ 4ÊT 

60 

80 

1997 

104 

50 

60 

OR/ 4AT 

Calculate standard deviation from the following data: -

3 

UNIT - IW zOIS - II 

40 

1998 

32 

98 

7. How skewness is measured? Under which conditions Bowley's method be used? 

30 

1999 

20 

103 

20 

13 

2000 

10 

101 

10 

10 

10 

5+7+8 

20 

5+15 

PTO. 



Age (under) 

No. of 

Persons 

Food 

X 

Articles 

Y 

Rent 
Clothing 

Fuel 

What is concurrent correlation? How is it dctermined? 

Misc. 

10 

From the following data obtain the two regression equations. 

3 

1S 

9 
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Price 

16 

20 

18 

30 

20 

10 

Construct Fisher's Ideal Index no. from the following table: 

10 

30 

4 

53 

11 

UNIT -IIIW Z6 - III 

Base year 

OR/ HqT 

40 

75 

Quantity 

S0 

UNIT - IV/ ̂OIS - IV 

30 

9. What do you mean by Time Series? Explain the components? Explain the various methods to determined the trends in Time Series. 

6 

10 

6 

4 

14 

50 

100 

Price 

24 

24 

15 

12 

60 

14 

110 

7 

15 

70 

115 

10 

Current year 

16 

45 

Quantity 

25 

8 

80 

6 

125 

12 

20 

5415 

20 

5+5+10 

20 
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